Wie lautet die fehlende Zahl (bis 10 000)?

Subtrahieren

Aufgabe 1 Aufgabe 2
1. 4 294 - = 1621 1. 5612 - = 1 684
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5 e ) \ s 5 v ) s
. ooue ) . . cos. ) s ous
. cos. ) s . coer . ) oo
. s ) ;s . ves. ) s
§ e ) i § e ) ;570
. . ) e . e ) .
9. 4827- = 1 9. 5027 - = 1905
10. 7548 = 5738 10. 4ss4- = 3 706
Aufgabe 3 Aufgabe 4
1. 9 403 - = 6 662 1. ? 666 - = 5 497
, P ) 3o , . ) o
., e ) - ., o ) o
. e ) - . s ) -
. s ) o . v ) ) oss
. e ) - . wor. ) 370
§ paer. ) ) 0cs § cao. ) 7 o
. e, ) < 2 . cos. ) .
9. 2583 - = 1082 9. 9089 - = 5012
10. F167- = 2 844 10. 6065 - = 2 771
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Wie lautet die fehlende Zahl (bis 10 000)? | ANTWORTEN

Subtrahieren

Aufgabe 1 Aufgabe 2
1. 4294 - 2673 = 1621 1. 5612 - 3928 = 1 684
, cosr . 7361 .......... ) o , 300 1299 ......... ) ;016
3. 7 150 - 2875 --------- = 4 275 3. 3973- 2 167 --------- = 1106

4. 9264 - 6814 = 2 450 4. 8675 - 1730 = 6 945

5. 5708 - 5340 = 368 5. 8 067 - 7070 = 997
. . 5108 ......... ) 7 g . - 0. 9684 ......... ) o
§ o 1219 ......... ) it § cea 2 661 .......... ) 670
. o 5410 ......... ) ) e . e 2 783 ......... ) -
. P 4826 ......... ) 1 5 . 3122 ......... ) ons

10. 7548 - 1810 = 5738 10. 4884 - 1178 = 3 706

Aufgabe 3 Aufgabe 4
1. 9403 - 2741 = 6 662 1. 9666 - 4169 = 5 497
, s 3175 ......... ) 3o , canr 4621 .......... ) 1o
., . 1028 ......... ) - ., - es 1281 .......... ) o1
4 6131- 1554 --------- = 4 577 4. 7418 - 7142 --------- = 276
. e 1394 ......... ) - . foos 2046 ......... ) ) oss
. oo 5644 ......... ) . X vor. 2 037 ......... ) 170
§ . 2719 ......... ) ) 0es § . 1722 ......... ) ;o
. Cen. 1354 ......... ) o . o 6 180 ......... ) .
X Jess 1501 .......... ) o X oose. 40?? ......... ) ors

10. 7167 - 4323 2 844 10. 6065 - 3294 = 2 7M1
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